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1. StandardForm ex.5x-4y=-2
a. PLUGINPOINTS(X,Y)

2. Write equation passing through (4, -2) with slope of -1/2
a. Use point slope, Y - yq = M(X - X)
b. Solve for v (distribute first)

3. Simplify - DO NOT USE INVERSE OPERATIONS
a. Distribute, then combine like terms.
eX. 4(x-2)-(8x-2)

4X+8-3X+2
X+10

4. Domain & Range
a. DR XY > Domain goes with X, Range goes with Y.
b. DILIR the RoBoT - Domain goes from Left 10 Right, and Range goes from Bottom to Top

5. Graphs of Inequalities “All About that Shadel”

Shade | Shade
Up Dawn

Dotted > <
soid | > | <<

6. Parallel and Perpendicular
a. Parallel - SAME slope
b. Perpendicular - Flippin' Opposites (Numbers are flipped and the signs are opposite)

7. Parent Functions: There are only TWO!
a. Lineary=X->1ooks like a line
b. Quadraticy=x?~100ks like a "u”

8. Functions

a. X'sdon't repeat
b. Passes Vertical Line Tgst

USE YOUR FORMULA GHART & GALGULATOR!



